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1 |Cwdwjuph nbywydwnp 1 1 450000 450000
2 |Cwdwjuph nbjwwph wnweht wbnwlug 1 1 370000 370000
3 | Cwduyuph nbywywph nbnulwy 1 1 225000 225000
<U3t8SN1ULUL MuUesNLLLr
4 |Cwdwjuph ntywywph funphpnwlwu 1 1 125000 125000
5 |Cwdwuph niiwydwph oquwlwu 1 1 125000 125000
6 |Cwdwyuph nbywdwph oquwluw 1 1 300000 300000
7 |Cwdwjuph nblwywph Jwdnih pwpunninwn 1 1 125000 125000
Jdur2U4UL muesnuuer
8 |dwpswlwu nthwwn /Mnnthdnp, lubwdwhu puwlwdwipbph/ 2 1 220000 440000
9 Hwpswhwt nEhwdwn /funquuiwn, dwnuwnng,Lwpwts, Upwinwu 4 : 200000 800000
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10 | Ughuwwnwlwquih pwpwnniqup (1.2-1) 1 1 350000 350000
11| Fuwynp dwubiwgbin-hwowuwwh (2.3-1) 1 1 345000 345000
12 | Unwowwnwp dwuliwghn (3.1-1) 1 1 200000 200000
13 | Unwowwnwp dwuliwghin (3.1-2) 1 1 200000 200000
14 | Unwowwwp dwuliwghin (3.1-3) 1 1 200000 200000
15| 1-hu Yupgh dwuliwgbn (3.2-1) 1 1 190000 190000
16 | 1-hu Ywpgh dwulwgbin (3.2-2) 1 1 190000 190000
171 2-pn Ywpgh dwulwgtin (3.3-1) 1 1 145000 145000
18] 2-pn Ywngh dwutiwgtin (3.3-2) 1 1 145000 145000
19| 2-pn Ywpgh Jwutiwghin (3.3-3) 1 1 145000 145000
20| 2-pn Yupgh dwutwgtin (3.3-5) 1 1 145000 145000
21| 2-pn Yupgh dwutwgtin (3.3-6) 1 1 145000 145000
22| 2-pn fupgh dwulwgbin (3.3-7) 1 1 145000 145000
23| 2-pn wpgh dwutwghn (3.3-8) 1 1 145000 145000
24| 2-pn Yupgh dwulwghin (3.3-9) 1 1 145000 145000
25| 2-pn wpgh dwutwgbin (3.3-10) 1 1 145000 145000
26| 2-pn Yupgh dwutwghn (3.3-11) 1 1 145000 145000
27| 2-pn Ywpgh dwutiwghin (3.3-12) ; 1 1 145000 145000
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28 [Stinh hwdwjupwwbwnwpwuh gnpdwduwn 1 1 125000 125000
29 |ludpwlgnipjwl pwpwnininwin 1 1 125000 125000
30 [Stinh hwdwjupwubnwpwih hwywpwpwn 1 1 130000 130000
31 [Stinh dpwlnyph wwl fudpwdwp / nhny/ 1 1 148000 148000
32|Stinh Ypwynyph wwl udpwywp / ipgbgnnnieniu/ 1 1 115000 115000
33|Stinh vgwlynyph wwl udpwywn /Yupwbunwgnpdniegniu/ 1 1 96000 96000
34 |Stinh dywlnyph nwl fudpwydwn /uwp/ 1 1 150000 150000
35 [Stinh dpwlnyph nwl fudpwwn /pdpowdwpun/ 1 1 115000 115000
36 |Stinh dpwlnyph nwl wynwipwwp 1 1 120000 120000
37 |Stinh dowlnyph wiwt hulhy 1 0.5 110000 55000
38 |Stinh vpwlynyph wl hwjwpwpwp 1 1 120000 120000
39|Stin gyninh gpwnwpwuwywp 1 1 110000 110000
40 |4nnuhdnp puwlwywiph dpwynyph wwl wlnuwpwywn 1 0,5 120000 60000
41 [YnnUpdénp ptwlwywph  dowlnyph wwt hwwpwpuwp 1 1 120000 120000
42 |4nnupanp puwlwywiph gpwnwpwbwdwp 1 0,5 120000 60000
43 |4nnupénp puwlwywiph «<bpnutibiph wngpwlp» pulwwwh 1 0,5 137500 68750
44 [lunquwwp puwlwywiph dowlnyph wwu wynulpwdwp 1 0,5 120000 60000
45 [uwdwiu puwlwywiph gpunwpwtwywp 1 1 120000 120000
46 [Pwpwobi puwlwywyph dawlnyph nwt puljwujuh 1 0,5 120000 60000
47 | Pwnuigbit, lunquwywin puwlwywipbinh Jwns. 2kupbiph hwwpwptbp 2 0,5 120000 120000
48 |dwnwwinip puwlwywypbiph upswlwl obuph hwlwpwpwp 1 1 120000 120000
49 |Upwynw puwlwywiph Jwpswlwl skupbiph hwwpuwp 1 0,5 110000 55000
50 [Sunbuwp T 1 135000 135000
51 [biyunphy 1 130000 130000
52 [Mwhuwly 1 120000 120000
53 |Ywpnpn. \ 1 165000 165000
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54 |Uuwutwpnyd ! ai ] 160000 160000
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